PROFEX SZAKNYELVI VIZSGA Vizsgazo sorszama:

C1 (fels6fok) — angol nyelv
Irasbeli
Irott szoveg értese datum:

2008. november 22.

Olvassa el a ket sz6veget és az olvasott széveg alapjan oldja meg a két feladatlapot.
Elérheto pontszam: 20 pont.
Figyelem! A vizsga akkor lehet sikeres, ha a vizsgazo részegységenként legalabb 40%-ot teljesit.

Végsoé megoldaskent csak a tintaval irt valtozatot fogadjuk el.
Kerjiik, hogy jol gondolja meg a valaszat, mivel barmilyen valaszmodositas esetén valasza érvénytelen.

MEGOLDOKULCS /Szavak szama: 970 szé/

1. Szoveg - Feladatlap

1. Keresse meg a szovegben az alabbi szavak és kifejezések maximum 3 szobol allo megfeleldjét!
Az elsot példaként megoldottuk.

Elérhet6 pontszam: 6 pont

0/ claimed demanded

1/ reimburse refund

2/ claimant plaintiff

3/ something that gives proof evidence / TESTIMONY
4/ broke the rule violated the law

5/ application to a court motion

6/ gave up (his post) resigned/quit
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1I. Valassza ki és karikazza be az egyediili helyes allitas betiijelét! Az elsot példaként megoldottuk.

Elérheto pontszam: 4 pont

0. A) Erickson appeared before court with his expert witness.
B) The court’s decision was favorable for Newmar.
C) Newmar did not appear at the trial.
D) Erickson’s expert witness refused to testify before court.

1. A) The district court denied Erickson's Tampering Motion on the basis of “abuse of
discretion”.
B) The “switching sides” cases could be applied to Erickson’s case.
C) The court was wrong in applying the precedent cases to the current case.
D) The court was right in its decision that Erickson’s aim with the Tampering Motion
was to shift the responsibility of losing his expert witness on the defendant.

2. A) Erickson hired the expert witness to testify against Newmar and R.V.’s Unlimited.
B) The expert witness who had testified against Newmar and R.V.’s Unlimited
withdrew his allegation.

C) Erickson’s expert witness used confidential information to help the opposing party.
D) The court should have made a decision considering the fact that the attorney
offered financial inducement to Dr. Grimm before he gave his testimony.

3. A) The defense counsel evaded the discovery rules when he negotiated unsupervised
with Erickson’s expert.
B) Combs intended to employ Erickson’s two expert witnesses.
C) Combs offered monetary inducement to Erickson if he dropped the case.
D) Erickson refused to use Grimm to testify at the trial due to the fact that Grimm had
resigned.

4. A) The defense counsel committed bribery.
B) Erickson’s ability to present his case to the court was severely impeded due to
Combs’ misconduct.
C) The procedure revealed that Combs’ attempt to influence the expert witness who
was about to testify was on purpose.
D) Finally the case was settled in favour of Erickson.
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MEGOLDOKULCS (Szavak szama: 683 sz6)
2. Szoveg — Feladatlap

1. Egészitse ki az alabbi mondatokat a széveg alapjan, iires szoveghelyenként maximum két szoval!
Az elsot példaként megoldottuk. Elérheto pontszam: 5 pont

0/ The Commission initiated a Registration on voluntary basis for interest representatives.

1/ The Commission involved (1) stakeholders in the process of drafting the Code of Conduct.
2/ A (2) public consultation was carried out prior to the creation of the Code of Conduct.

3/ The aim of “Interest representation” activities to be registered is to have an effect on the (3)
European institutions in policy and decision making.

4/ European networks are expected to create (4) (common/transparent) guidelines in order
to enable self-regulation.

5/ Registration applies to (5) entities/any entity whose activities meet the definition of
interest representation.

1. Parositsa a szoveg betiikkel jelolt bekezdéseit az alabbi, szamokkal jelolt bekezdésosszegzokkel.
Egy bekezdésosszegzot nem kell felhasznalnia. Az elsot példaként megoldottuk.

Elérheto pontszam: 5 pont

. The problem of activities not included in the “Interest representation” activities

. Giving help for members to find the activities that need registration

. The decision made by the European Commission

. Detailed description of stakeholders’ participation in drafting the Transparency Initiative
. Interest representatives expected to register

. The Communication on the Code of Conduct and the Register

. More activities than defined in the activities of interest representation
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